BY Gl sy z21/02/1z2

z|z|"2-izRe(z*)+i=0

Hore 1
Z-m@ 4.4
(e +.44) (@3+87) - (e -4&) @ +4 =0

3 Z 2 ., 2 ,
e +etf + 26 il - cu el 4 =0

%@31—‘9_@2.}_9,@ = o g (v (Qz"f'fg-z-(—»@/’—‘o ~> g

>
,é.ez,;.,@— 4-Q,Z.;_j =0 ,6—34-01(/@-{-2)-/-1':0

%Q:O ~> ,6'3-/-2 —0o HB-=-1

Q=0

&z-f-@-zf,@ -0

=828 > £ 4(642) 4120 B8 g 120

~T B’=—x
Hobo 2

Zlzgl*-<zR(Z) +a=0 ) rolr PER < ZF

Lzt l=zfR(=) - =

) coprwaro ===
o= 12 Re(E) - 2 =67

S o774

2 [z/ZEz(ZJ ~a/€<_(z)—_—ol/

E@(E} =0

t'— e -
2 R(=) (I=/%-2) =0 > glzlz=14>/gl__i

1) R.(=)=o Z=x K

=z[=z|* —,C.Z\B&CZ*) +4 =0 ;@—z,c' iz H=-2

=% RE)= ()

E=-«

1z



2) |=]=4

<=0 b =zR R (E) - =0
D|FFEREAS4
-,c‘/zll' -I—IZIZPz(E)-— = =o/
Z
2. /2/9— 3*+@ =o

*
|Z|"=4 Zopiz)= -F
241"

. A
24 + 24 I/)«,(Z):O

T,.(3)=-4 => f(=)=o0 => T=-<

Ao E=— 4

2/2



